Useful information: Na = 6.022140857 x 1023/mol, R = 8.314 J/(mol K) = 0.08206 L atm/(mol K), 1] = 1 kg m?/s2, 1L = (0.1 m)3,
1atm = 1.01325 bar, 1 bar = 105 Pa, 1 Pa = 1 kg/(m s2), tyys = +/3RT/M = upp+/3/2, [p + a(n/V)?*](V — nb) = nRT, Il = icRT,

ATg, = —imKg,, ATyp = +imKyp, Dsowent = Xsolvent? solvents 1 V= 1]/C, F = 96,485 C/mol, In(x) = In(10) log(x) = 2.303 log(x),

AG =-n,FE = RTIn(Q/K) = AH-TAS, RTIn(K) = —AH°® + TAS®, at 25 °C E = —(0.05912/n,) V log(Q/K) = E° — (0.05912/n,) V log(Q),
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S = (R/NA)II’I(W) = kBll’l(W), (E) = m, In (ﬁ) = —kt, In (E) = _kthalf! nthalf =, k=Ae Eq/(RT)



